® -12 )

oy o

@ 7 ©)

B

3)0.777 - -

b) 8471 obd frel 5
® 3%
@ 3%
® A%t obd el
@ 3%

® e47}obd 4




®

29
50

@

45
30

©)

21
45

@




REA D <r<d i WEINE 495 10 gho] obd AL
@1 @ 2 ® 3 @ 4 3)5

08<x<4111..-0|H&
HE5he 244 v 9] glo] ohd R solt.




=84S ~1.231453145 - - 9] =8ty A5 o, 257 oFf 100
Gk Z}ﬂJ 222 p et S, a+ b FHS Floiet

Ct -
= -

vV V¥

D8

B ~
-1.23145°| B2 &3] o] 22} 4 74
100-1 = 4x24+ 30|22 254 ofefl 100 1A 2] 9] £2t=
4o]t}.
La+b=38




e 55 AR Ageler,

+=eAS 3,025 8 B2 UeEhle Aolth [ [ ¢t

&AL 302 2 x 2 o

x = 3.02555- - -
[ ]x=8025.555---
- Jz= 302.555--
£=2723
mebA x=[  |olth

iy

i

v VvV Vv vvy Vv VvVYy
0x
iy

1000

e 100

Hehr 900
2723

pal=s

== 900

B

10002=3025.555""
—) 100z= 302,555
900x=2723

2723 o
ufeb x = T ot




151 —

90

15

68

— _— O

45

A}
A}

A a+= 45|tk



@)9,® © 6,0

090 066 0606

&eas7)

42 Yol

A
(o]
A

ool ALt

Sims
ki

o M
<
4 <

ol 4 oy
F i 1
AP < o
{F b T




4567
9900

olf, a4 b+ c+d 2 S F5toiet.

> E.

> Mg 14

B

= 0.abed N a, b, c,d =0,1,2, -

4567
9900
a=4,b=6,c=1,d=3
“a+b+c+d=14

=0.4613




2o 2 o o g ox (10°- 1) Fatoler

333
>
> =g 81
2 2
3—;)x(103—1)=%x999=27x3=81




10.

The AFZHROl A x o] ghe?

1.37

//<§\\1OOo
-~

T
0.3z

@5 @60 ® 70 @ 80 ® 90

~&B

Azt o] T Y+ i3} o] 2512] b= 7t 212k 37|+
B2 0.3x°+ 1.3x° = 100° 7} &},

) . 3 12

03x+13x=—-x°+ —x=100°
9 9

15

§x° =100, 15x°=900°

Cox =60




